THE GAUHATI HIGH COURT AT GUWAHATI
(The High Court of Assam, Nagaland, Mizoram & Arunachal Pradesh)

Preliminary Examination (Objective type multiple choices) for direct recruitment
to Grade-l of Nagaland Judicial Service

Date :20/12/2018 Time : 11.00 am to 1:00 pm
Attempt all questions Total marks : 100

[Total No. of questions . 100, each question carries 1 mark]

1 The military operation which annexed Hyderabad into the Indian Union was code —

named as
A) Operation Meghdoot B) Operation Polo
C) Operation Viraat D) Operation Vijay

2 Find the next Group of alphabets -
CFl, DHL, ILO, LPT, ........

A) ORU B) RUW
C) OQT D) Oosv
3 If “VOLKSWAGEN" i1s wnitten as "UQKMRYZIDP” then “SWITZERLAND” 1s written as —
A) RVHSYDFPMQD B) TXJUAFSMBOE
C) RYHYVGQNZPE D) RYHVYGQNZPC
4 Find the missing number in the sequence
9, 3, , 1/3,1/9
A) 2 B) 6
Cy 12 D) 1

5 Statements All the students are young All the teens are young Some men are teens

Conclusions
|  Some students are teens
Il Some young are students
Il Some young are men

A} Only (I} follows B) Only (1) and (l11) follows
C) Only (1) and () follows D) Only (1) and (1) follows
6 If TEACHER i1s coded as CAHEETR and STUDENT s coded as DUETNST, then what
is the code for SUCCESS ?
A) CECSUSS B) CCEUSSS
C) SCUSCES D) UCSECSS

7 The marked price of an article 1s 20% more than the cost prnice |f the article 1s sold at a
discount of 15% on its marked price, then the gain percent is —
A) 5 B) 4%
C) 2% D) 2



As per NITI Aayog's Health index, 2018, which of the following States is the healthiest
State in India2 ?

A) Punjab B) Haryana
C) Kerala D) Tamil Nadu
Which of these digital payment mechanisms does not require an internet connection ?

A) USSD B) UPI
C) e-wallets D) IMPS 24x7

Choose the alternative, which best expresses the meaning of the idiom/phrase in the
questions from 10 - 14

10

11

12

13

14

15

White-knuckled handshake

A) sign of stressful situation
B) friendly handshake

C) sign of peace

D) holding hands very lightly

Break a leg

A) good luck

B) take a break

C) bad luck

D) trying hard to succeed

Find your feet

A) desire to escape from a situation
B) adapting and attuning to something
C) finding one's own space

D) ready to fight a war

(To) Go cold turkey

A) speaking truth

B) getting down to business

C} gradually cutting down

D) withdraw abruptly and completely

{To be) On the ball

A) another thing coming

B) having fun

C) being alert or well prepared
D) raise the roof

Legal Principle Whoever by words or writing conveys to others any imputation
concerning any person’s reputation 1s said to defame that person

Factual situation Dunng a marnage ceremony, “A” circutated a pamphlet saying that
“S", sister of the bnde, is a thief, she has stolen the shoes of the bndegroom

A) "A” has defamed “S”

B) “A” has defamed the bridegroom

C) “A”" defamed the bride

D) “A” did not defame “S” as he never intended it
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The change in the colour of stars 1s linked to

A) Vanation in therr surface temperature

B) Varation in their distance from the earth

C) Fluctuations in their composition and size

D) Irregular absorption or scattering in earth’s atmosphere

Unlike the fluid core of the earth, the core of the moon Is —

A) Plasma B) Volatlle gas

C) WViscous liquid D) Sold

“‘Bar” I1s a unit of

A)  Humidity B) Alcohol content
C) Pressure D} Depth

The Great Barrier Reef refers to —

A} Coral formation B) Tidal waves

C) Hilirange D) Man-made walls

The “Dirty Snowbal!” I1s related to —

A) Comets B) Meteorites
C) Space debris pnimarily from space D) Asteroids
craft

Law can be broadly divided into two kinds Procedural Law which tells us the procedure
for obtaining justice and Substantive Law which

A) Creates nghts and duties

B} Which supplements procedural law

C) Which substantiates moral principles

D) Issues directions to law enforcement agencies

When an offer 1s accepted by other party, it becomes

A) Proposal B) Contract
C) Agreement D) Promise

What 1s a plea bargaining ?

A) A procedure by which a defendant pleads guilty in exchange for a lesser sentence

B} A conference between opposing lawyers to settle claim

C) A conference between opposing lawyers and Judge to determine the time a case
should be heard

D) None of the above

in India the International Treaties are ratified by —

A) President B) Parliament

C) Prime Minister D) Foreign Secretary
Offence of breaking a divine 1dol 1s

A) Crime B) Sacrilege
C) Salus popul D) Blasphemy
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The act by members of a trade union, persuading others not to work is called a -

A) Non-cooperation B) Picketing
C) Sit-in-strke D) Strike

When a Judge makes certain remarks in the course of his judgment, which are said “by
the way” and do not have direct bearing on the facts at hand, such remarks are called —

A) Ratio Decidendi

B) Obiter Dictum

C) Observations

D) Comments ordinaralls

Which of the following 1s not protected by Copyright Act ?

A) Computer databases B) Invention

C) Musical work D) Dramatic work
In tort, the remedy is

A) liquidated damages
B) unliquidated damages
C) punishment

D) judicial review

When a person Is prosecuted for committing a criminal offence, the burden of proof
IS on .

A) Himself B) Prosecution
C) Court D) Police

Direction {Qs. 31— 35): Fill in the blank with the most appropriate word :

31

32

33

34

When you are living with your values and principles, you can be straight forward,
honest and

A) Inhertted, distinct B) core, upfront

C) nnate, durable D) cultural, perceptive

Genetic engineerng in humans should be used to diseases, notto ... genetic
uniformity

A) treat, foster B) eradicate, cater

C) cure, generate D) avoid, promote

The quality of . between individuals and the organization for which they work can

be to the benefit of both parties

A) Ife, conceptualized B) interactions, improved

C) service, evaluated D) work, better

Indian intellectuals may boast f they are so inchined of being to the most elitist
among the intellectual . .  of the world

A) subordinate, traditions B) heirs, cliques

C) ancestors, societies D) herir, traditions
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Angered by bureaucrat's . comments, the reporter insisted for
amore .. . response.

A) redundant, repetitive B) tactless, mmediate
C) circumiocutions, direct D) sarcastic, beneficial

Fill in the missing number 1,1, 2, 3, 5, 8, , 21

A) 21 B) 8
c) 11 D) 13

Value of “A” in the expression, 5+ 12 x 10 - 1201240 =Ax10,s

A 11 B) 24 5
C) 34 D) 65

A library has an average of 510 visitors on Sunday and 240 on other days. What 1s the
average number of visitors per day in the month of June beginning with a Sunday ?

A) 250 B) 280
C) 276 D) 285

A group of men decided to do a job in 8 days But since 10 men dropped out every day,
the job got completed at the end of the 12" day How many men were there at the
beginning ?

A) 165 B) 175
C) 80 D) None of these

All the faces of a cube are painted with red colour Then It I1s cut into 125 small equal
cubes How many small cubes wilt be formed having no face coloured ?

A) 27 B) 16

C) 36 D) 25

Who was known as the “Desert Fox" ?

A) Adolf Hitter B) Manfred von Richthofen
C) Erwin Rommel D) George S. Patton
The “Wailing Wall” 1s associated with —

A) Christians B) Bahais

C) Jews D) Shias

A nautical mile 1s equal to —

A) 1852 metres B) 2000 metres

C) 1575 metres D) 2050 metres

Who I1s genealogist ?

A) A person who creates a DNA gene map of individuals

B) A person who studies the total gene pool of an ecosystem

C) A person who studies and traces family lineages

D) A person who locates individuals with 1Q in the range of geniuses in a sample
population
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Who 1s credited with the depiction of “The Common Man” through his cartoon strips ?

A) R K Narayan B) K.R Narayanan
C} R.K Laxman D) Pran

Kuchipudi 1s a dance form owing its origin to

A) Kerala B) Andhra Pradesh
C) Orissa D) Tamil Nadu

Who among the following proposed the concept of Earth Hour ?

A) Jm O'Neil B) Theodore Levitt
C) Baruch Blumbers D) Andey Redley

Which of the following is primanly a digital book reader ?

A) Apple |-Pad B) Sandisk Sansa
C) Amazon Kindle D) Nokia N95

What is the full form of scanning technique “"CAT” ?

A) Complete Anatomical Trepanning B) Computerized Automatic Therapy
C) Computerized Axiat Tomography D) Complete Axial Transmission

What does “R™ in Maruti Suzuki’s small car WagonR stand for ?

A) Responsible B) Remarkable
C) Relable D) Recreation

Find the number of triangle in the given figure —

A

A) 11 B) 12
C) 13 D) 14

How many rectangles are there in the figure given below —

Ay 3 B) 4
C) 5 D) 6

Replace the question mark from the options given below

6 3 2 5 3 9
369 425 ?

A) 939 B) 693
C) 981 D) 993
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4+ 4% 4% 4* sequalto 7
A) 4% 8) .
c) 4* D) -

How many triangles are there in the following figure ?

A) 10 B) 12
C) 21 D) None of these

A writ by court, to some person or body to compel It to perform some public duty is —

A) Quo Warranto
B) Habeas Corpus
C) Mandamus

DY Prohibition

Minimum number of Judges which can give an advisory opinion to President is -

A} One-third of total strength of Supreme Court
B) Five

C) Half of total strength of Supreme Court

D) Seven

The Ordinances 1ssued by the Governor are subject to the approval of -
A) Parliament B) State Legislature
C) President D) Chief Justice of concerned State

The Legal Services Authorties Act, 1987 was enacted under which provision of the
Constitution ?

A) Article 21 B) Article 39

C) Article 39A D) Article 43A

The first hour of every sitting of the Parliament 1s known as -

A) Zero hour B) Question hour
C) Debate hour D) Discussion hour

The correct sequence in ascending order of their creation of the following international
institution 1s

| WTO

Il GATT

il UNCTAD
V. NAFTA

Ay HLHLL WV B) i, n, 1, v
Cy WH LI D) 10 0V
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Which of the following groups of international institutions are also known as “Bretton

Woods Sisters” 7

A} United Nations and Bank of International Settiement

B) IMF and World Bank Group

C) IMF &WTO

D) IMF, IBRD and International Trade Organisation

Which one of the following countries 1s not a UN member country ?
A) Greece B) Taiwan

C) Portugal D) Australia
The sedof International Criminal Court 1s at -

A) Vienna B) The Hague
C) Switzerland D) Melbourne
Who founded the Red Cross ?

A) Henry Dunant B) Alexander
C) James Cook D) Bismark

The first woman Secretary-General of SAARC was from which country ?

A) Maldives B) Bhutan
C) SnlLanka D) India

The term of office of a judge of the International Court of Justice I1s -

A) 10years B) 9 years
C) 7years D) 5 years

World Day to combat desertification and drought I1s observed on -

A) June 17 B) June 20

C) Apnl17 D) July 20
“Earth Hour Day”, an energy saving inttiative, 1s celebrated on

A) January 2, B) March 8

C) Aprl1 D) March 29

A Colonel in Indian Army 1s equal to . in Indian Navy

A) Commander B) Captain

C) Commodore D) Rear Admiral
The term “Chukker” 1s user in :

A) Rifle Shooting B) Horse Racing
C) Wrestling D) Poalo

First Olympic Games were held in

A) 776 BC B) 798 BC
C) 876BC D) 898 BC
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Who among the following cricketers i1s the author of the book “Six Machine”. | Don't Like

Cncket .. llove it ”

A) Dawvid Wamner
C) Virat Kohii

A “Snickometer” 1s associated with which sports ?

A) Tennis
C) Hockey

B)
D)

B)
D)

Chris Gayle
Shikhar Dhawan

Cricket
Football

75  Who is the oldest woman tennis player to be ranked No 1 in the world ?

A) Venus William B) Chris Evert
C) Martina Navratilova D) Serena Willams

Directions {(Qs. 76 — 80) : Legal phrases are followed by four meanings. Choose the most
appropriate option.
76 ‘Punctum Tempors’ means

Point of time
Timely assistance

A} Temporary position B)
C) Functional authority D)

77  ‘Faux pas’ means

A) Expected to happen B) Social blunder
C) Fake identity D) False

78. ‘Jus Gentium' means -

Law of Societies
Global justice

A) Global administrative law B)
C) Law among Nations D)

79 ‘Lex ioci’ means:

A) Italan laws B)
C) Latin regulations D)

Domestic laws
Law of a place
80 ‘Bona vacantia’ means

A) Vacant land B)
C) Goods that have no owner D)

Order of the court for eviction
Vacant building

Directions (Qs. 81 — 82) : In each question below, four words which are numbered (A),
(B), (C) and (D) have been printed, one of which may be wrongly speit. The number of
that word is answer. Find the wrongly spelt word.

81. A) Intervention B) Ludicrous
C) Nymphomaniac D) Passimism
82 A) Barncade B) Checkmate
C) Equilibrium D) Accesible
Directions (Qs. 83 - 85) : Which of the following spelling is correct -
83 A) Coincidence B) Coincidance
C) Considense D) Coninsedense
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Directions (Qs.91- 95): Choose the sentence(s) which is/are punctuated correctly :
91.

92

93.

A) Hemorhage B) Haemorhhage
C) Haemorrhage D) Hemoorhage
A) Moretorium B) Moratorium
C) Moratarium D) Maratorium

In which year, Nagaland formed a separate state of India ?

A) 1965 B} 1963

C) 1972 D) 1976

Total number of main tnbes 1In Nagaland is -

A) 12 B) 16
C) 18 D) 20

The battle of Kohima was fought in the year -

A) 1939 B) 1941
C) 1944 D) 1945

Who was the first Governor of Nagaland ?

A) B K Nehru B) Vishnu Sahay
C) L P Singh D) None of these

Which one 1s the highest Point of Nagaland ?

A)  Mount Pinatubo B) Mount Saramati
C) Diengiel Peak D) None of these

| Our daughter will be three years oid next week
Il.  Our son will be two-years-old next week.

Il Our two-year-old Is starting to talk

IV. Our two year old 1s starting to talk

A) |and Il B) I and IV
C) llandii D) m

I Jan asked, “What did Joe mean when he said, ‘| will see you later ”
Il Jan asked, “What did Joe mean when he said, ‘| will see you later?”
I Jan asked, “What did Joe mean when he said, ‘I will see you later'?”
IV. Jan asked; “What did Joe mean when he said, ‘| will see you later™?

A) Il B) |
c) IV D) Il

| Yes, Jagnt, you were nght about that answer

Il. Yes Jagrit, you were right about that answer

Il | saw our town’s ex-Mayor Prakash Kumar in the mall.
IV. | saw our town’s ex-Mayor Prakash Kumar in the Market

A) land Il B) 1, 1l and IV
C) land IV D) Il and It

10
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I It may not be the correct part, but | bet that it works

Il 1t may not be the correct part but | bet that it works

[l O father! | hear the sound of guns

IV O Hamiet, speak no more!

A) tlandlill B) [, Il and IV

C) llandlli D) I and IV

| Aliberally sprinkled dose of humour was very much appreciated

[I. Right now | want two things peace and quiet

[l Our liberal-minded clergyman managed to unite the entire congregation
IV Right now | want two things; peace and quiet

A) llandlil B) | and IV

C) Lilland NI D) Nl and IV

Which provision of the Constitution of India prohibits employment of children below the

age of fourteen years to be employed in factones ?

A) Article 23 B) Article 17

C) Article 27 D) Article 24

if A>B, B>C and C=>D, then which of the following conclusions i1s definitely wrong ?

A) D<A B) C<B

Cy A<D D) B<A

Brnitishers established Fort St. George as a trading outpost of East India Company in —

A) Varanasi B) Chandigarh

C) Chennai D) Jaipur

tn India, the National Voter's Day 1s celebrated on —

A) 25" December B) 25" January

C) 17" March D) 17" January

Which of the following statements best explains the phrase ‘Devil's Advocate’ ?

A) Expressing contentious opinion B) Expressing discontentment
C) Arguing for the sake of argument D} Arguing for the guilty

b330 [][] LI
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